NT801 /N\—Y1) X |

EPI4

No.

1 JL— L&

2 =X 5 E %

3 |T—7RAEE

4 [RSBEYEER

5 aVARTEREIR R
6 952 70vRE%
7 (252 TE&

8 [CHHRENBE &

9 FAZEHL (ZEA)

10 |BEHL(EEAD

1 | hyia—ER%k

12 |HEHaUART7ER
13 |&RrHBER

14 |EBITSRAERFR
15 |fzIEhb7o XNER
16 |T7—BE&

17 |hA—EE

18 |HIEAR v X%







1. FZL—LEE

No HEES I &% & & No. WaES B oM & R &% i &
1 |40014-11030 TL—L 1

2 |20041-31200 EYERERILE 4 [M8x46
3 |20308-41220 FyrRH— 2

4 |01506-00850 REEEY 2 |p8x50
5 |01421-00816 ESHHR 2 |[ms

6 |01501-00818 REY 2

7 |40010-21150 AURT— 1

8 [40014-21150 Fr—UHARZIR 1

9 |40014-31500 IS yhR—2R 1

10 |40014-31390 Hl{EAR Y- BT R 1

11 [40010-32070 FEHEFEIESWR—X 1

12 |20304-41060 Fr—rhN—4E 1

13 |20147-42120 X476 3 |M6x76
14 |20000-41780 NREHRARARILE 4 |M6x12
15 [20000-42010 NREHRARARILE 20 [M6x16
16 |01250-00606 &tk 8 M6




7 Tl s %

= 823
(q.% 810
806
- ")\\ 823
806 <"\ Q) _
Q) g

33
\ 25 .
@ AN, 2

g0y O | (g?f?'\\ - ‘Qﬁ
Qv@@’ .\(( %2 o o

7y a3V

P Q B
| \_g\; ’\/\\ 26 : ‘)““5
\ \”
3
oX

\
A e
R ). >
o)
)

)
4

811 820

805 iiég!!;?

102

%ﬁv/// f3)
o
Q)

30

804

e\~ SN
PR AR
= — A FRYS
\ D e @N@@M\m
. @£ﬁ> n
WF ! !
50 )
o N

FE:NO.AO BEBEL .y MIRHEE R Y /e ind I
NTEOTCEBARICES: hTv sN0.824 &) v 7/(HM) ca TER (R o




2. =X 5%

No. HEES I &% & & No. WaES B oM & R &% i &

6 |TABO06 [ &HHLEh 1 56 [TABO056 RL/\% 2

7 |TABOO7 FEHHL 1 |MEEELLR 71 [TABOT71 EE/ T 1

16 |TABO16 E&ET L 1 102 |TAB102 TR — 1

20 [TAB020 ERT7— L& 1 106 |TAB106 T—TEED®H 1

21 |TABO21 BR7—L 2 109 [TAB109 TL—Fik 1

22 |[TAB022 NURILRTF— 1 111 |TAB111 TL—F/1\% 1

25 |TAB025 WBER7—LAT— 2 112 |TAB112 HE B EF Vb 2

26 |TAB026 H4ro—)L 3 545 |TAB545 R7YGr—R 1

28 [TAB028 HARYY 6

29 [TAB029 O—)L7—L 1 600 [02100-01010 CHZIE S 10

30 |TABO030 WEZ O—)LE 1 601 |01421-01016 TES M10

33 |TABO033 MEAR 1 602 |02110-01010 ERS L &HER 012 (FETA10)

34 |TAB034 HARO— )L & 2 603 |02110-00506 Ef 1L &HER & 6 (FFU 5)

35 |TABO035 ARNLET— 1 604 |02110-00608 ER L &HER & 8 (FFU 6)

36 |[TABO036 HARSZ 1

37 [TABO37A A 5MEUk 1 [sEtEvk 802 |40010-41750 TL—Fik 1 |EEEE
TABO37B A 10 tvk 1 |10t vk 804 |40010-41570 HEZO—)L(EvrRE) 1

38 [TABO38 EBERHAF 1 805 [40014-41610 FYILTaqvk 1

39 [TABO39 EER 1 806 [20148-41280 TH—9h75—(12) 2

40 [TABO040 A—)L7 345k 1 809 [01501-00918 REY 1

41 [TABO41 RAUR2 1 810 [01506-01055 HEEY 1

42 |TAB042 EREIE 1 811 |40010-41770 [XEHHL(GE 1 |[HEBEYMER

43 |TAB043 EEE) D& 1 812 (TAB812 ARy GER) 1

44 |TAB044 EREN AR IR AR 1 816 [20208-42303 AR—HY— 2

45 |TAB045 53R/ \ R 1 817 |01420-01016 ESHH R M10

46 |TAB4647 BREELYH 1 820 [40010-31402 I7—)o8—$32%x150 1 PIE—toY—ftE

48 [TAB048 Abwsi— 1 821 |40010-43270 D)o E—tY— (1) |EoY—BER(RR)

49 [TABO049 RS 1 822 |40010-42950 D)= — (1) |y —BR(3EH)

50 [TABO050 SFTvbD®H 1 823 (40010-41660 ZEFay 2

51 [TABO51 SFYrANR 1 824 (40010-43230 ERED1)> 4 (HM) 1

52 |TABO052 2 1 826 |40010-40160 T—IHRILA—EZ (A 1

53 |TAB053 T—TRILE —HE 1 827 |01010-10410 NANIFRILE 4 |M4x10

54 |TABO054 HN— 1

55 |[TABO055 N TS 1




T — 7R FRAR

3.




3. TR &R

No HEES I &% & & No. WaES B oM & R &% i &
1 |40010-42900 T—TRHMRA(YF 1

2 |40010-31231 o —RftEE(T-F) 2

3 |01110-00430 F+FIEFANhRD 2 |M4x30

4 |01200-00432 NATVE 2

5 |01400-00410 NRFHR 2

6 |01110-00510 F+FIEFANhRD 1 |M5x10

10

40010-42050

IAYARAYF (T—)

(1)

1

40010-42890

F—TRHMy—II

(1)




A5 0 BA(R

™

4.




4. NSERYERR

No HaEE I &% w & No.| MBHES B oM & R &% i &
1 |40014-31510 RSUYE—=TZyk 1

2 |40014-41620 RSBYF IR 1

3 |40010-41170 O—5—kLE — 1

4 |40010-41150 Evo6 2

5 |40010-41160 ARvoa—5— 1

6 |40010-41250 ESTIAE S 1

7 |01421-00610 ESYHR 4 |M6

8 [02110-00506 ER LE A 4

9 |40014-30100 RSpYyoF4—@vy) 1 |y —ftE
10 |40010-41670 Ay 2

11 |20000-42010 NREHRARAHRILE 3 [m6x16

12 |40014-41890 DB —tE P —(RSREY) (1) |EoY—HiE




o, 3 v~ T EEIRIR

7

59,60,61,62

49
59,60,61,62 L7




5. AURTERFEH R

No HEES I &% & & No. WaES B oM & R &% i &
1 |40014-31520 FI—UHARA 1 35 |40014-31020-L |7ZAyFfFFz—L 2

2 |40010-41340 Fr—HARRI(A) 1 36 |40014-31020-R |7AyFf+Fr—2R 2

3 |40014-31190 Fr—2HAKB 2 37 |00930-40061 EEZA%S 4

4 |40010-41350 F—UHARRI(B) 1 38 [40014-41670 Fr— TR 2

5 |40010-31970 Fr—RYEE 2 39 [40014-41680 F—URz 1

6 |01030-00870 RARILE 2 [m8x70 40 |40014-31460 Y —FE—2—{%) 1 [40W 1/50
7 |01200-00807 NATVE 2 |M8 41 |40010-32060 oY —EitiR 1

8 [01220-00805 RAFTV 4 |M83%E 42 |40010-41120 W RTOs vk 1

9 |20134-41110 RF7YIGr—RA 7 |#6002 43 [03003-41048 O—5—FI—v 1 |#410 48L
10 |20516-41170 NPT r—R 1 44 [02002-00520 TTH— 1 |5%x5x20
11 [02202-06002 R—=ILRTYUT 8 |#6002UU 45 |40010-41360 27045 Yb20T (p15%—) 1

12 |40010-41060 2704 vk20T (P20) 8 46 [40010-42390 X AR A0 AR 1

13 |02100-02012 CHZ IE A 10 |20 47 [40010-42400 BHRR(RFEEY) 1

14 |40010-31130 B vI+ 1 48 |40010-42650 FUEEEY—T) 1

15 [40010-31141 i (E) 1 49 |40010-42710 EIEIE Y —(P) 1

16 |40014-41630 FE(R) 1 50 |20000-42010 INRERRRARBARILE 32 [M6x16
17 |90023-41020 RATAMHT— 20 1 51 |01010-10612 NATUTRILE 6 [M6x12
18 [40010-41710 AR—H— 2 |t06 52 |01010-10608 NANRMRILE 2 |M6x8
19 |40014-41640 H5—B(18.3) 1 |¢23xt1.0 53 [01200-00605 NATFYE 4 M6

20 [40014-41650 AR—Y—B 1 |t06 54 [01250-00606 EEFFvbk 4 [m6

21 |40014-41660 RS A+HF5—15B 1 |25 55 [01421-00610 ESHH R 8 [M6

22 [01360-20608 NANSFLERD 4 [M6x8 56 [01400-00615 INRHFH R 4 M6

23 |40010-31120 e 1 57 |01114-00406 TFIARSRINRD 4 |M4x6
24 02002-00620 FiTH— 2 |6x6x20 58 [01421-00408 ESHHR 4 (M4

25 |02002-00640 FEiTH— 1 |6x6x40 59 [01110-00316 FTFRFFARNRD 4 [M3x16
26 [40010-41090 27a45vyk20T (¢ 20%F—) 2 60 [01200-00303 NATYE 4 (M3

27 |40010-41100 2704 9rW20T (¢ 20%—) 1 61 [01400-00307 INRFH R 4 (M3

28 |40010-31150 T a3V BTk 1 62 |01421-00305 ESYHR 4 |M3

29 [01420-01223 ESYHR 8 |M12

30 [01501-01226 REY 8 |12

31 [40010-31260 FoavT—L 4

32 [01420-01016 ESYHR 8 |M10

33 |20000-41430 A YMET) 4 100 |03001-41201 AMTRYFHF s
34 (02100-01010 Ctz 1L A8 4 |10




727 oy FE%

0.




6. V770 yRE&k

No HEES I &% & & No. WaES B oM & R &% i &
1 |40014-41690 & E 1

2 |40014-41700 Bt +EEB 1

3 |40014-41710 AR—H— 2

4 |40010-32350 I TRALE) 1

5 |40014-41720 Bz 1

6 |40010-40150 AEXISoTAvEE 1

7 |40014-41730 ZIRAMAR—X 1

8 [20000-42010 NREHRARARILE 12 [M6x16
9 |01250-00606 EEffFvb 2 |M6

10 [99005-41070 JIHRILE (M6 x 15) 1 |M6x15
11 |01400-00615 NRFHR 1 [m6

12 |01421-00610 ESYHR 1 [m6

21 |40010-43210 AEXISoTAvE (1)

22 |40010-43220 R EiRE—R )

23 |01114-00408 +FRHESRIPRD (2) |M4x8




7 BA%

5%

-

7.




7. [ZHXITER

No HEES I &% & & No. WaES B oM & R &% i &
1 |40014-41830 Ny hEEU 10

2 |20000-42650 #Tv1(8%x15) 40

3 |40014-31580 A -] 10

4 |40014-31590 NG 10

5 |40010-42580 IZHIRZ(E) 10

6 |40010-21230 1255 10

7 |40010-42570 IZHIRZ () 10

8 |40010-42460 TRIRE 20

9 [01010-10308M  |/RAIFRILMAYF) 40 [M3x8
10 [01110-30310 TFIfAFANINRD 20 [M3x10
11 [01111-30310 FTFERASS IR 60 [M3x10
12 |01250-00304 TS50 FyMMI(EL—HMTE) 120 (M3

13 |01111-00525 FTFERGHTINRD 40 [M5x25
14 |40010-42430 INTYRTAR 1

15 [01113-00410A |+FERFFREvELRD 3 |M4x10
16 |40010-32100 INTYRT AR IEHIR 1

17 |20000-42010 NREHRARAHRILE 2 [m6x16




5 R E0RI (%

~

8. |




8. IZHRRENREE &R
No HEES I &% & & No. WaES B oM & R &% i &
1 |40014-41740 oY —EftHiR 1
2 |40010-42490 IRt Y — 1
3 [20000-43110 NREHIATFRAF NSRS 2 |M3x10
4 |01000-00610 NARILE 2 |M6x10
5 |01421-00610 ESHHR 2 |[me




9. BAZ AL (CEH)




9. FEHLER)

No HEES I &% & & No. WaES B oM & R &% i &
1 |40014-41750 ZR@IS7 vk 1

2 |40010-42620 HLEATIRB 1

3 |40010-42350 HLEAT R 1

4 |40010-31941 REHLE) 1

5 |40010-42591 EVHARR 1

6 |01114-00414 TERAFSRINRD 1 |M4x14
7 |01421-00408 ESYHR 2 (ma

8 |01400-00410 NRFHR 1 M4

9 |01200-00403 RATFYL 1 |m4

10 |40010-43040 EVHARRB 1

11 [20000-42170 NEERRATFIREGFANNRD 2 |M4x8
12 |01114-00612 TERAFSRINRD 1 |M6x12
13 |01000-00616 NRARILE 4 [M6x16
14 |01421-00610 ESYH R 4 |M6

15 [20000-42010 NREHRARARILE 5 |M6x16




10. BHE I L(EEMH)




10. BAZHL(EARD
No. | BREES B om A M 1E%k w & No. | MG &ES R ] B & &
1 |40014-41760 ERHDI S vk 1
2 |40010-42620 HLEATIRB 1
3 |40010-42350 HLEAT R 1
4 |40010-31950 BEHLEE) 1
5 |01114-00612 FTFERATRINARD 3 |M6x12
6 |01000-00616 NAERILE 4 |M6x16
7 |01421-00610 ESYHR 4 [M6
8 [20000-42010 NREHRARARILE 4 |M6x16




T4 — Bt

1.




1. AvE—EE%

No. HEES I &% & & No. WaES B oM & R &% i &
1 |40014-41230 E—S—HhN— 1

2 |40010-31300 LIN—=Y T WE—E—(hy5—) 1 |eow

3 |01000-30618 NARILE 4 [M6x18
4 |01400-30615 INRHH A 4 M6

5 |01200-30605 ATV 4 |[m6

6 |40010-42610 HvA—Eh 1

7 |01360-30610 NRANRFFLERISUS 2 |M6x10
8 [40014-31530 IZ5B/Y2—hS) 1

9 |40014-41770 Y a—hkhR—S 1

10 [40010-42370 UV IR 1

11 [40010-41320 hvr—EE 1

12 |40010-41310 HvE—F 1

13 |40010-42550 FAH/N— 1

14 |40010-32170 REHN— 1

15 [01010-30616 NANSFRILE 1 |M6x16
16 |01000-30612 RARILE 3 [mex12
17 [01114-30612 +FIRFESRIPRTSUS 1 [M6x12
18 |20000-41780 INREHRARABRILE 2 |M6x12
19 |20000-41910 (%% 2 |M6x10
20 [20007-409 230 2

21 |01421-30610 ESYHR 3 |[me




12. HEH = X7 EI%




12. a7
No. HEES I &% & & No. WaES B oM & R &% i &
1 |40014-20221 BHavR7a1zyk 1 101 |40014-21090 TL—LAL )
2 |40014-31430 BHaU R 7 EER 1 102 [40014-41160 RPYGT RIS — 2
3 [20000-42010 NREHRARARILE 6 |M6x16 103 [02202-06001 R—=IRTYLT (3) |#6001UU
4 |40014-41430 AVARTHARR—X 1 104 |00931-40019 [EfE/ R 2
5 |40014-31271 HHIVRTHAR 1 105 |40014-31220 NIVAEEEIO—5— (1
6 |40014-41440 IZ5XLBFLERR 1 106 |40014-31230 ~N)LMEEO—5— (1)
7 |01114-30612 FTFERFZRINRD 2 |M6x12 107 [40014-31211 BAIRTALE (1)
8 [01421-30610 ESYHR 2 |Ms 108 |40014-21100 JL—ALR (1)
9 |01200-30605 RAFYE 2 |M6 109 [20035-41160 XHEA) (4) |M6x30
110 |01200-00605 NATYE (1) |M6
111 |40014-41190 TR E (1)
112 (20000-41730 INRHRRARARILE 4) [M6x12
113 [40014-31480 Fr—KRE—4— (1) |1
114 |01421-00508 ESHHR (8) [M5
115 |01400-00513 NRFHR (4) (M5
116 |01200-00504 NAFTYE (4) |M5
117 [01362-20610 NANRMLERDOHESR) (1) |M6x10 31
118 |40014-31250 E—32—Hh/N— (1)
119 |01250-00606 E&fFyb (2) (M6
120 |40014-41170 LR 2
121 |40014-41180 RAT— 2
122 |20007-409 Bt xs (4) [M6x3.3
123 |01421-00816 ESYHR 2
124 |40014-31240 TR (1)
125 |20000-42520 JIRILE (2) |M6x10

¥1 - FY—FE—4—: 40014-31480IZ (LA AT IE RS (BBE)DRBENET




13. FE etk

=T
Tmmns i il /..

PLCHR -7t
° &7 -7 VR




13. Fra=ERk

No. HEES I &% & & No. WaES B oM & R &% i &
1 |40010-32380 RAURERFR 1

2 |20000-43340 SRR ILR(MS x 40) 2 |M6x40
3 |01200-00605 ATV 4 [m6

4 |40014-41780 RIRBMAIVE 1

5 |40014-31570 EcGRE ] 1

6 |40014-41860 A IJLERATIR(GT707) 1

7 |40014-41600 70957 TR RER(NTS01) 1

8 [40014-41880 TPER7—TIL 1

9 |00980-45810 RS-232CER~S—T )L 1 |2m

10 |01114-00608 FTFERFIRINRD 4 |M6x8
11 |40014-41800 a—FEE 1 |t1.0

12 |01110-00408 T+FIEFANhRD 2 |M4x8
13 |01421-00408 ESYHR 2 |M4

14 [00980-45800 PLCH 7 —T L 1

15 |40015-43310 fERFa—T 1 |R#E50
17 |MR& Ao anvy54

18 |20000-41780 INREHRARABRILE 6 |M6x12




14, FEwr oo s




14, BE(CHBREBE®

No. HEES I &% & & No. WaES B oM & R &% i &
1 |40010-32150 oY —EftHiR 1

2 |40010-42290 TAHYARAYF (4 1

3 |01110-00320 F+FIEFANhRD 2 |M3x20
4 |01400-00307 INRHH A 2 |M3

5 |01421-00305 ESHHR 4 M3

6 |01200-00303 NATFYE 4 (M3

7 |01010-10310 NARMRILE 1 |M3x10
8 |40014-41280 T H—FiR 1

9 [20007-409 Eftro 1

10 |01420-00812 ESYHR 2 |[ms

11 |01250-00606 &Mtk 1 |mMé

12 |40010-42660 BERCOBRHMT—T I 1

13 MR EO =D 1




16. © 7 —B9(%

15. -idh s 7y 2 hEZ

™)
a0 ) O
r,@
S
S ©®
S
D
@)
()

0B O YRy,
i\




15. fzITHR57 ANER 16. T7—Rf%k

No. HEES I &% & & No. WaES B oM & R &% i &
1 |40014-41810 YU —a =y RETHR 1 1 |40014-41470 L¥alL—42—HftiR 1

2 |20000-41780 INREHRARARILE 2 2 |40010-41691 L¥alL—2—5EHE 1

3 |40010-43070 I7—I)UF—(TA) 1 |eoY—1FE 3 |20000-41780 NREHRIARAARILE 2 |M6x12

4 |40010-41670 b Q= 2 4 |20000-42010 INREHRIA R ARV 1 |M6x16

5 |40010-43110 TAVY U H—T S ykB 1

6 |40010-43120 Tyatk 1

7 |01114-00612 FTFERFZRINRD 2

10 |40010-43260 D) =Y —(TA) (1) |y —HiK




17.

7 — B




17. AH—E&

No. HEES I &% & & No. WaES B oM & R &% i &
1 |40014-31550 fzlEhbhN\—F%H 1

2 |40010-42080 24 /35 (50 x 30) 1

3 |40014-30120 fzi¥tanh/\—4f 1

4 [20007-409 Bt 2

5 |40014-31560 HIR—(18) 1

6 |40014-21160 YART—=DIL 1

7 |40014-31420 H1/X\—%4(800) 1

8 |40010-42450 FoiavhiN— 2

9 |01114-00610 FTERAFSRINRD 9 |M6x10
10 |20000-41780 INREHRANRABRILE 4 |M6X12
11 |20000-42010 NREHRARAHRILE 4 |M6x16
12 |40010-42640 FEAMR 1

13 |20000-41910 (i 2 |M6x10
31 |40014-31540 fz[EFhanh/N— (1

32 [99005-41150 mF (1)

33 [20000-42380 NEFRRATF G FNNRD (2) |M5x10
34 |40010-42640 EAR (2)

35 |20007-409 Bt # (4)

36 [20000-41710 R EE (2) [m8
37 [01421-00816 ESYH R 4) [m8
38 |01250-00606 E&tryk (4) |M6




18. it AB4%
® O

40010-42810

EhEFEE v b

40010-42910

ks (LK)

20177-41070

No. | F& o 4
1 |40014-41870 —hr L —
2 | 00980-45800 PLC Bif5i 77— 7 /v
3 | 40010-42771 J L'—(OMRON)
4 | 40010-42790 TR
5 | 40010-42800 TL—H—
6
7
8

TL—F% Ry




